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2018 |
ECONOMICS - HONOURS
Fifth Paper
(Group-A)

Full Marks - 50

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Section — A

1. Answer any five questions :
(a) ‘Comparative advantage theory of trade explores the benefits of

international division of labour’. — Justify.
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(b) Suppose that cloth is produced using 30 hours of labour for each
acre of land and food is produced using 10 hours of labour for each acre of land.
(i) Suppose the economy’s total resources are 600 hrs of labour

and 60 acres of land. Using a diagram, determine the country’s allocation of

resources.
(i) What would happen if the labour supply increases to

900 hrs ? 3+1

(c) State and explain Stolper-Samuelson theorem. 4
(d) How does a change in terms of trade affect the welfare of a

country ? 4
(¢) Do you think that ‘Voluntary Export Restraint’ is a non-tariff

barrier to trade ? Why ? 4
(f) ‘A quota on imports can convert a potential monopolist into an

actual monopolist.” Do you agree ? Explain. 4
(g) Explain the ‘Swan diagram’ of internal and external balance in an

economy. 4
(h) Distinguish between ‘clean float’ and ‘dirty float’ of foreign

exchange regime. 4

Section - B

Answer any five questions

2. (a) Derive world relative supply curve in a one-factor comparative

advantage model.
(b) Explain international equilibrium using world relative demand

and relative supply curves. 442
3. “If the factor-endowment ratio of two trading countries differ widely,

free trade may not lead to factor-price equalisation”. Illustrate the statement. 6
4. “When the rest of world experiences economic growth, the effect may

be bad for a nation.” — Do you agree ? Explain. 6
5. Which one is preferable to a country, depending on the terms of trade :

an import tariff or an export subsidy ? Explain with reasons. 6
6. Distinguish between depreciation and devaluation. Derive the

2+4

Marshall-Lerner condition for improving the trade balance through devaluation.
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7. Explain the effect of price changes caused by tariff and subsidies on
relative supply and relative demand. 6

8. (a) Derive the open economy fiscal multiplier (AY/AG). Is it larger or
smaller than the multiplier in a closed economy ? Explain.
(b) Show the effects of change in export on the income and trade

balance of a country. 3+3

9. (a) Discuss the effects of government deficit on current account.
(b) What condition does sufficiently guarantee that a currency
depreciation will improve the current account deficit ? 442
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